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Questions 11-12 are based on the map of Asia on pages 78 and 79 of the atlas.

12. Look again at the map of Asia. On the line below, write the name of an Asian country that
is landlocked.

ME JI0I=9] &Ml WS

SIMEZ2 XIZUA OtAIOIS] LS =D0HE IHete == QUCH

e 200l LHE =JIE SHI20 e,
Cl

01e g0l WS =I0t8 WeotNl 28,

o8 ot GAl P“JPLIAEF OFZ2MILIOL, OtMIZBOIEH, SEF SIS AR, I2I|AAE, 2tRA, S2, Ul
EHXDIAE, S2IAMNLIAE, RXHI7|AE
=2 At ofLt 0149 =S BOH0l A B2, 2 =Jt= WS =I1010{0F &

-

5) NAEPOIAE ‘28 &2 SHol 4 201 0/ ‘Essential’, ‘4=F 0|€ SHHCl B4 20 E0E 'Inappropriate' 2
AESICHE 201028 202t ‘Acceptable’, ‘Unacceptable'2 HZ5H0d AFE6ID  QUCH et 2 HRUAME
‘Acceptable, ‘Unacceptable' 2 S0t AF=5HDAF ST



192 s=2A18 DS 20138 o1 Xist =35

I
tl:l
HJ

12. Look again at the map of Asia. On the line below, write the name of an Asian country that is landlocked.
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Questions 11-12 are based on the map of Asia on pages 78 and 79 of the atlas.

12. Look again at the map of Asia. On the line below, write the name of an Asian country that
is landlocked.
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Questions 11-12 are based on the map of Asia on pages 78 and 79 of the atlas.

12. Look again at the map of Asia. On the line below, write the name of an Asian country that
is landlocked.
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8. Suppose a second airport were going to be built in this area. Draw an airport symbol on
the map in the place where you think the new airport should go.

Then, in the space below, explain why you put the second airport where you did.
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B Suppose a second airpon were going to be buillin this area. Draw an airport symbal on
the map in the place where you think the new airport should go.

Then, in the space below, explain why you put the second airport where you did.
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Suppose a second AITPOr were going 1o be built in this area Draw an airpor symbol on
the map in the place where you think the new airpon should go

Then, in the space below, explain why you put the second airpor where you did
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Suppose a second airpor were going to be bl in this area. Draw an airport symbol on
the map in the place whore you thenk tha new airpon shoukd go

Then, in the space below, explain wihy you put the second airport where you did
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8. Suppose a second airport were going to be built in this area. Draw an airport symbol on 8.

the map in the place where you think the new airport should go

Then, in the space below, explain why you put the second airport where you did

Suppose a second airport were going to be built in this area. Draw an airport symbol on
the map in the place where you think the new airport should go.

Then, in the space below, explain why you put the second airport where you did
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15. LITTLE TOWN

Width: 4.0 miles east to west

Length: 3.0 miles north fo south

Main Street runs east to west through the town.

The school is on the northeast side of town.

Phelps Park is on the southwest side of town.

Runt River runs north to south through the town.

On the grid below, each square is one mile wide and one mile long. Draw a map of Little
Town on the grid. Draw the town's borders. Then, use the symbaols in the key below to dra
the features listed above.
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LITTLE TOWN

o Widih 4.0 miles eas! o west

= Length: 3.0 miles north to south

& Main Stroot runs east 1o west through thi town

= The school is on the northeast side of town

> Pheips Park is on the southwest side of town

= Runt Rrver 1uns nofth 1o south thiough the town
©n the grid below, cach square is one mike wide and one mile long. Draw a map of Littke
Town on the grid Draw the town's borders. Then, use the symbols in the key below 1o draw
the features listed above
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LITTLE TOWN

= Width: 4.0 miles east fo wost

= Length: 3.0 miles norh to south

= Main Street runs east 1o west through the own
o The school is on the northeast side of town

5 Phelps Park is on the southwest side of lawn

o Runt River runs norh to south through the town
On the grid below, each squane i% one mike wide and one mile long. Draw & map of Lilte
Town on the grid Draw the lowr's Borders. Than, use the symbols in the key balow 1o draw
the features ksted above
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15 LUITTLE TOWN

= Width: 4.0 miles east to west

= Lengih 3.0 miles north to south

5 Main Street runs east (o west through the town

= The school is on the norheast side of town

o Phelps Park is on the southwest side of town

= Rurit River runs north (o south through the town
©n the grid below, each square is one mile wide and one mile long. Draw a map of Litte
Town on the grid Draw the town's borders. Then, use the symbols in the key below to draw
the features listed above.
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15 LITTLE TOWN

o Widih 4.0 miles east 1o west
Length: 3.0 miles norh to south

= Main Street runs east to west through the tawn

o The school is on the northeast side of tawn

= Phelps Park is on the southwest side of town

o Runt River runs norh 1o south through the town.
On the grid below, each square is one mibe wide and one mile long. Draw a map of Littie
Town an the grid. Draw the town's borders. Then, use the symbols in the key below 1o drav

the features istod above
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15 LITTLE TOWN

v e oy Dirawy o g of Litte
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©On the gnd below, Sach SQUATE IS GNe Mk wide 1m-.| ane mile long Draw o map of Litte
e Syrnbsals 0 The loey Delaw 1o dray Town :..mrm grid. Draw e lown's borders. Then, use tha symboks in the key below to draw
thar Teatures listed abeve
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